Svolgi le seguenti equivalenze

50dam=_____ m 33km=__________ dam
13km=___________ hm 2bdal=__________ dl
3l= dl 562hl=__________ L
62dal=_______ ht Obdal=__________ L
126dm=_____ cm 2345dl=______ dal
763ml=___ dl 242m=_____ km
272l=___ hl 8491dal=____ cl
6954m=_____ cm 765dm=______ mm
418dam=_________ hm 241hm=_____ km
56,824 hm = m 3dl= ml
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482dal=___________ ht
29cl= L
4581 m=__________ hm
98dam=__________ km
147 dal=_________ dl
67hl=____________ L
54hm=___________ km
2,9 dam =
68km=___________ dm
21l= dal
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